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M.Com. (Previous) Business Administration
Examination, 2017
RESEARCH METHODOLOGY AND
BUSINESS STATISTICS

Time : Three Hours
Maximum Marks : 100

PART - A (@U8-37) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.

it e A ¥ | 9 U o ST T veal i 3w
Tt Wyl & 3% 99§
PART - B (@Ug-&) [Marks : 50

Answer five questions (250 words cach).
Selecting one from each unit. All questions carry equal marks.

T TR ¥ Ue-Ueh W9 970 §U, T Urdl e it |
Yo¥F g9 o1 I 250 Va1 ¥ A A B
ot w9l % &7 99 B

PART - C (@WUE-H) [Marks : 30
Answer any hyo questions (300 words each).
All questions carry equal marks.
S W | W TR o SO 300 W § ot 7 A
Tt well & of G ¢ |
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PART - A

(Q@uUg-31)

1. (i)  What do you mean by hypothesis ?

319 IiEheaT W ) T § 7

(ii) What is scientific rescarch ?

ARt T HY =+ 87

(iii ) Distinguish between a 'Questionnaire’ and a 'Schedule'.

‘yrgerEet’ e ¢ TIgE o S T R

(iv) Define primary data.

Tyt g # uftanfag SR
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(v) Under what condition can there be only one regression

line ?

e Rfraf T Sraet T € WOTTEA T 81 ekl 67

(vi) GivenY = 100+ 8X: where X is time unit is one year.

Origin : 1994, Shift the origin to 1991.

amyeRt fe gam ® L Y - 100 + §X, Widl X T97 3,

o T F g A 1994 § 1T 1991 T TG FEd B

[t TS

(vii } Give the assumptions in 'interpolation’ and ‘extrapolation’.

Al B O 170 Lo e ) o 4 LA
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(viii ) The first four control moments of a distribution are :
0, 2.5, 0.7 and 18.75. Test the skewness and Kurtosis
of the distribution.
maﬁ%nmaﬁm el < 0,2.5,0.7 941 18.75
%1@ﬁﬁwqﬁq§¥ﬁ¢amwﬁmm|

(ix) Distinguish between 'variables' and 'attributes', giving
two examples of each.

T % ) TR T W e o’ F armm T w0

(x) IfN=100, (A) =60, (B) = 50 and (AB) = 35, calculate
af (ab).

?ﬂ%:N= 100, (A} = 60, (B) = 50 W5 (AB) = 35 & &

af (ab) T grM?
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PART - B

(@us-9)

UNIT -1

(Fw1E-1)

2. Define business research and give its characteristic features.

Identify the areas of research in business.

FEEaEs Wy Hi uiturn e 99 sEe! G Jwemd |

g H WY % &rF F P R

OR

( 3tra)
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3. [Explain the characteristics of hypothesis. Discuss the different

uses of hypothesis.

THEeq o ot =aed | uferer % fafus sudm aasd |

UNIT - I1

(ZHE-11)

4. Mention the various sources of secondary data. What

precautions are taken while using them ?

fidtas wiwl & fafim wd &1 soeifigg =if9o) 3 37m

A H v e et e E, weEE |
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OR
(3rgEn)
5. [ixplain clearly the precautions to be taken while preparing a
research report.
STEAM UfddeT TR F Hea wR-FE o FEeE e
e, EYd FaEd |
UNTT - 111
(FETE-1 )
6. Discuss the concept of 'regrcssion’. How is it useful in
business decision making ?
yaamT W faam st sren sy sewtas o | 9w
fera yarr Tt 22
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OR

( 37erET)

7. From the following time serics, determine the linear trend

values by least squares method and estimate the trend value

for the year 2005 :

fr=fafea F= avit 3 =gaem o 9fd g we T T

A 19 ShITSTE T a9 2005 6 ferw IUAGT om 1 STHnt difeg:

+ Year: [ 1993 | 1996 | 1998 | 1999 | 2001 | 2002 | 2004

Value: | 75 67 68 65 50 | 54 41

4824/3680 8



UNIT - 1V

(3hE-1V)
8. Define moments. Why and how Sheppard correction is
applies?
s Y SRenfig i) o au fFe TR AU deieE =
wan feran s @72
OR
(39T
9. The following table gives the normal weight of a baby du‘ring
the first 6 months of life. Estimate the weight of the baby at

the age of 4 months :
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et iferan § < & waw o mw d oy &1 s vw fean

BT & 14 T8 &1 79 R forg & i =1 AHm omgd

Age (in months) 0 2 3 5 6
A (wre )
Weight (in Lbs.) : 5 7 8 101 12
¥R (s o)

UNIT -V

(FFE-V)

10. Distinguish betwecn the concepts of 'correlation’, 'regression’

and "association’ and describe the situations in which each of

these should be used. Hlustrate your answer with examples.
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‘T AT qd T ) el 3§ et e
FifFd i 37 aftfeafedl o 9o Fifsa faad o &1 v
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( 379a)

11. An investigator sends the following data to his headquarters :
(A) =510, (B) = 490, (C) = 427, N = 1000, (AB) = 189,
(AC) = 140 and (BC) = 85.

Do you find any inconsistency ? Determing.

T SEEAT AT A F A s Sea

(A) =510, (B) =490, (C) = 427, N = 1000, (AB) = 189,
(AC) = 140 and (BC) = 85.

4] T F8 Aanld fawd 3 €7 3 R
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PART - C
(Tus-w)

12. What is research process ? Describe th various steps involved
in the process of research. Illustrate your answer through a
flowchart.

FTHYA WlRa 0 ¥ STpHuT whEn A v fafiw el =5t
STEAT IS | ell=IE F Aem A 7Y IR F GHd |

13. What are the essentials of a good 'Questionnaire’ ? Prepare

a questionnaire for studying the expenditure of student in a

college.

T 3T WEIT! & R EYEE O §7 TE Heaee %

s

faenfeidi % @<l % vre ¥ o et dar
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14. A panel of judges A and B graded seven debators and

independently awarded the following marks :

Debator : 1 2 3 4 5 6 7

Marks by A : 40 34 28 30 44 38 3

Marks by B : 32 39 26 30 38 34 28

An cighth debator was awarded 36 marks by judge A. Whiie

Judge B was not present. If the judge B was also present,

how many marks would you expect him to award to eighth

debator assuming that same degree of relationship exists in

their judgement ?

3 fuiaE A 9 B & U961 3 ge-faamre wfadifi % 7 awist =i

=a= w9 4 feifed o 3 .
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Fe-faarK 1 2 3 4 5 6 17

PIGRIRETIED)]
HuTE A ¥ 3T 40 34 28 30 44 38 31
froiaes B o afsh 32 39 26 30 38 34 28

WAmsﬁuﬁ@fﬁaﬁse%ﬁ:&nﬁmﬁwﬁB

aﬁqﬁaﬁmmﬁ.’ﬁﬂmbﬁmﬁaﬁémﬁaﬁaﬁuﬁfﬁ

a1 1 FEaY 3iw 2 afg 941 fAortaes! @ faora H |EE avE 6

Ty faemm 7

15. Calculate the measures of Skewness and Kurtosis with help

of moments method :
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Wﬁﬁzaﬂwﬁﬁwmaqgﬁr@a%mﬁm

it |

Measurement ; | 0-10 10-20  20-30  30-40

Frequeney : 10 30 40 20

16. Compare the association between literacy and unemployment

in rural and urban arcas. Comment on the results obtained :

Urban Rural

Total number of adult males : 25 takh 200 lakh
Literate Matles : 10 lakh 40 laki
Unemployed males : 5 lakh 12 lakh
Literate and unemploved males : 3 lakh 4 lakh
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